000000 (A/B)0DOOO [O0](2009/07/09)

0.000000000000 000000

Q.1

v =
Q.2

v =
Q.3

v =
Q.4

v =

1—2
-3+ 3
1—1
-1+ 3
-3+ 2
—3—1

2+
21

2—2
-1+

3—2i
—3—1
2+
1—3
—31

Q5

Y=
Q.6

Y=
Q.7

v =
Q.8

=

—3—2
—3+1
3+ 3
2—1
1 -2
2+ 3

-3+ 31
3+ 2
3+ 2
3+1
1+ 2

—1—-2

31

2+ 30
—3—31
-1 -3
2—2
—2—-3%
3—1

3+ 3
-3+ 30
—27

1+2
2+ 21

Q.9

Q.10

Q.11

Q.12

21
—241
—1—-2
141
2—3
2—1

-3 —1
142

2—1
—2+2i
—2—-2

143
-2+ 31
1—3

1—1
—1—-2

—2—3%

-2
—2i
—2—-3%
2—2




000000 (A/B)0DOOO [O0](2009/07/09)

Al

A2

A3

A4

| = V67
lv| =2v/5
o] =

v| = V47

A5

A6

AT

A8

lv| = 2V17
o] =
o] =
lv] = V53

A9

A10

A1l

A2

v] = V/34
o] = V37
| = 2v/10
v = V51



